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Trig ldentities

. €SCO—sinB = cotOcosO

sec’0-tan’0

- 0s’ 0
sec” 0
coto +1 —1+tand
coto

sin® + sindcot? 0 = cscO

sin® coso
— =1
cscO secH

cschcsch—1=cot’0

cosOcscH =cotHh

tan06sin® + cosO = secH
sin? §(1+cot’6) =1
sec’0cot’ 6 —cos*0csc’ 0 =1

sin’ 0
cos O

+cosH =secH

secOcscO
tan0+coto

2 —sin*0=1+cos’* 6
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Trigonometric Identfities
32. Prove each identicy.

.2 '
I—smrr__mix p) anx_ 1
COs X s5inx  cosx
5ln x COs x . 3 '
) ——— " =] —sinx d cos'x+ BLXEX _ 5 ns’x
an x tan x
e 1+ tan’x=—_1 0 cos® x — sin? ¢ = Densd «
nx ] cos" x—=sin"x=2co0s x—1
COS X
: 7
— &if 4 COE X | — tan"x 2 - 2
d ek = h) — =cos'x~sin'x
£ 1+ tan"x

33, Use a graphing calcularor to show that each equation appears to be an
identity. Then, prove the equation is an identity,

1 + | _ 2 1+cosx sin x

. - b) - =0

7 l+oosx 1—cosx ginle sin ¥ 1= cos x

M. Prove cach identity.

o) (sin x = cos ¥)(sin x + cos x) = 2sin’ x = 1
bl (sin x = cos x)* =1 - 2sin x cos x

d 1 + mn1x= ]2

i cos x

d cos” x — cos* x = cos? ¥ sin® x

e (1- cos” 3)(1 + ran’ x) = tan® x

“ sinx 1+
) ol cos x _ o
]l - cos x Sin X

-



